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1.  Which means the same as

     200 + 60 + 4?


200,604


  20,604


    2,604


       264

2.  Which means the same as 

     500 + 20 + 7?


572


527


527


275


3.  What is another way to express

     800 + 40 + 9?


  849


  948


8,409


9,048


4.  Which is another way to express

    300 + 90 + 8?


      398


    3,098


  30,908


300,908

5.  Which means the same as 672?


6 + 7 + 2


600 + 7 + 2


600 + 70 + 2


600 + 700 + 2

6.  What is another way to express

     391?


3 + 9 + 1


30 + 9 + 1


300 +  90 + 1


300 + 900 + 1


7.  Which is another way to express

     425?


40 + 20 + 5


40 + 20 + 50


400 + 200 + 5


400 + 20 + 5


8.  Which means the same as 798?


700 + 9 + 8


700 + 90 + 80


700 + 9 + 80


700 + 90 + 8

